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QP Code : 67413

(3 Hours) [ Total Marks :

N. B. : (1) Attempt any four questions.
(2) All questions carry equal marks.

Explain any two of the following :—
(a) Balanced budget multiplier
(b) Transmission mechanism
(c¢) Endogenous growth theory

Explain any two of the following —
(a) Permanent income hypothesis
- (b) Topin’s portfolio theory of demond for money
(c) Money multiplier

Write an essay on inflation, expectations and the aggregate supply curve.

Discuss any two of the following :—
(a) Automatic adjustment process
(b) Exchange rate overshooting
(c) Exchange rate intervention

Write an essay on Lucas critique

Explain any two of the following :—
(a) Rules versus discretion
(b) Activist policy
(c) Debt management policies

Write short notes (any two) :—
(a) Equilibrium in IS-LM model
(b) Instruments of monetary control
(c) The Polak-fund model
(d) Mankiw model
(e) Role of credibility
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